
Long Division: Notations (N-5)
SOLUTIONS

Name:

Time: Score: /

37) 5 3 2 8

− 4 8

5 2

− 4 8

4 8

− 4 8

0

: 6 = 8 8 8 38) 5 4

− 3

2 4

− 2 4

0

: 3 = 1 8

39) 6 2 5 6

− 5 6

6 5

− 6 4

1 6

− 1 6

0

: 8 = 7 8 2 40) 2 8 9 2

− 2 4

4 9

− 4 8

1 2

− 1 2

0

: 6 = 4 8 2

41) 4 2 3

0 2

0 3

0

1

4 2 3
42) 1 5 8 8

1 8

0 8

0

2

7 9 4

43) 3 5 7 3

8 7

6 3

0

9

3 9 7
44) 6 7 6

2 7

3 6

0

4

1 6 9

45) 1 9 1 1

1 1

2 1

0

3

6 3 7
46) 5 4 0

0

6

9 0

47) 3 3 4 0

3 4

4 0

0

5

6 6 8
48) 3 1 0 1

3 0

2 1

0

7

4 4 3

49) 1 8 4 5

0 4

1 5

0

3

6 1 5
50) 5 8 4

2 4

0

8

7 3

51) 1 9 5

1 5

0

3

6 5
52) 2 8 5 9

1 5

0 9

0

3

9 5 3
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